— \
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3.4 Solving Quadratic Equations using the Quadratic Formula

e | can use the quadratic formula to solve a quadratic equation
e | can evaluate the discriminant and use it to determine the number and type of solutions
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In the quadratic formula. )

Use the quadratic formula to solve. Simplify your answer.

*Make sure the quadratic equation is set equal to '%EM . Identify a, b and c before you hegin.
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3.4 Quadratic Formula

Do and Discuss
Solve the equation and simplify your answer(s).
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1. 8x-8x=—2 B -Ex+2:=D 2. 3-8x-5x*=2x
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Using the Discriminant ~ Looking under the square root can tell you a lot|
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Determine the number of x-intercepts of the parabola. Hint: Remember that the x-intercepts
correspond to the numberof __ | - soluw+on S

Ex3: 4x*+3x+12=3—3x
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3.4 Quadratic Formula

Quick Check:

Determine the number of real solutions. Draw a rough sketch of the parabola.

1. x*-8x=-16 2. 2x*+4x-4=0
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Ex4: A juggler tosses a ball into the air. The ball leaves his hand 4 feet above the ground and has an

initial velocity of 40 feet/second. The juggler catches the ball when it is 3 feet above the ground. How
long was the ball in the air?
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Additional Resources: -32 -32_ =
e Textbook: Chapter 4.8 (pg. 292) —MS
® The Quadratic Formula Song:  https://voutu.be/O8ezDEk3qC; y

® Quadratic Formula - Kahn Academy  https://youtu.be/i7idZfS8t8w V\—Vﬁf‘m o? ¢ Sa SPC.



